

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Purchase Order

Order Date: 07-01-2025

CORRECT ORDER NUMBER MUST APPEAR ON ALL PACKAGES, INVOICES, AND SHIPPING PAPERS. QUESTIONS CONCERNING THIS ORDER SHOULD BE DIRECTED TO THE DEPARTMENT CONTACT.

Order Number:	CPO 0313 0313 DEP2500000012 4	Change Order No: 1	Procurement Folder:	1257503
Document Name:	EOI - 2023 AML Contract N1	Reason for Modification: Change Order #1 to Increase Contract		
Document Description:	EOI - 2023 AML Contract N1 Central Purchase Order			
Procurement Type:				
Buyer Name:	Joseph (Josh) E Hager III			
Telephone:	(304) 558-2306			
Email:	joseph.e.hageriii@wv.gov			
Shipping Method:	Best Way		Effective Start Date:	2024-11-20
Free on Board:	FOB Dest, Freight Prepaid		Effective End Date:	

	VENDOR			DEPARTMENT CONTACT
Vendor Customer Code: KLEINFELDER INC 180 White Oaks Blvd	VS0000028116		Requestor Name: Requestor Phone: Requestor Email:	Jessica S Chambers (304) 414-1140 jessica.s.chambers@wv.gov
Bridgeport US Vendor Contact Phone: Discount Details:	3042888978 Extens	26330 ion:	2	026
Discount Allowed	Discount Percentage	Discount Days		
#1 No	0.0000	0	FILE	LOCATION
#2 Not Entered				
#3 Not Entered				
#4 Not Entered				

INVOICE TO			SHIP TO		
ENVIRONMENTAL PROTECTION OFFICE OF AML&R		ENVIRONMENTAL PROTECTION OFFICE OF AML&R	N		
601 57TH ST SE		601 57TH ST SE			
CHARLESTON	WV 25304	CHARLESTON	WV 25304		
US		us			

CR 7-2-2s

Total Order Amount: \$3,784,715.00

Purchasing Division's File Copy

THE STATE OF THE S

RCHASING DIVISION AUTHORIZATION

DATE: ELECTRONIC SIGNATURE ON FILE 7/03/2015

ATTORNEY GENERAL APPROVAL AS TO FORM

national Acade

ELECTRONIC SIGNATURE ON

ENCUMBRANCE CERTIFICATION

DATE: OF THE STATE OF THE STATE

ELECTRONIC SIGNATURE ON FILE

ELECTRONIC SIGNATURE O

Date Printed: Jul 1, 2025 Order Number: CPO 0313 0313 DEP2500000012 4 Page: 1 FORM ID: WV-PRC-CPO-002 2020/05

Extended Description:

Change Order No. 1 is issued to increase the original contract according to all terms, conditions, prices, and specifications contained in the original contract including all authorized change orders.

Original Contract Sum: \$3,409,570.00 Change Order #1 Increase: \$375,146.00 New Contract Total: \$3,784,715.00

Effective Date: May 20, 2025

All Provisions of the original contract and the subsequent change orders not modified herein shall remain in full force and effect.

No other changes.

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
1	81100000	0.00000		0.000000	493660.00
Service From	Service To	Manufacturer		Model No	

Commodity Line Description:

Enterprise Portal

Extended Description:

Enterprise Portal

ommodity Code Q	Quantity	Unit	Unit Price	Total Price
100000 0.	0.00000		0.000000	14680.00
ervice To M	Manufacturer		Model No	
_			00000	

Commodity Line Description:

Glosser/Williams Property Phase II

Extended Description:

Glosser/Williams Property

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
3	81100000	0.00000		0.00000	751140.00
Service From	Service To	Manufacturer		Model No	

Commodity Line Description:

Miller Mine Drainage Phase II

Extended Description:

Miller Mine Drainage

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
4	81100000	0.00000		0.000000	540245.00
Service From	Service To	Manufacturer		Model No	

Commodity Line Description:

Shinnston (Sheppard) Mine Drainage

Extended Description:

Shinnston (Sheppard) Mine Drainage

Date Printed: Jul 1, 2025 Order Number: CPO 0313 0313 DEP2500000012 4 Page: 2 FORM ID: WV-PRC-CPO-002 2020/05

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
5	81100000	0.00000		0.000000	831115.00
Service From	Service To	Manufacturer		Model No	

Commodity Line Description:

Simpson Creek Highwall, Tipple & Portals, Phase II

Extended Description:

Simpson Creek Highwall, Tipple & Portals, Phase II

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
6	81100000	0.00000		0.000000	19880.00
Service From	Service To	Manufacturer		Model No	

Commodity Line Description:

Weaver Portals and Drainage Phase III

Extended Description:

Weaver Portals and Drainage Phase III

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
7	81100000	0.00000		0.000000	1133995.00
Service From	Service To	Manufacturer		Model No	

Commodity Line Description:

West Fork #9

Extended Description:

West Fork #9

FORM ID: WV-PRC-CPO-002 2020/05

Page: 3



west virginia department of environmental protection

Division of Land Restoration
Office of Abandoned Mines Lands and Reclamation
1000 Technology Drive, Suite 3220
Fairmont WV 26554
Phone: 304,842,1900

Harold D. Ward, Cabinet Secretary dep.wv.gov

Phone: 304-842-1900 Fax: 304-842-1928

May 20, 2025

KLEINFELDER, INC Attn: Samantha Pretzel 180 White Oaks Blvd Bridgeport, WV 26330 Re: Change Order # 1

Project Name: 2023 AML Contract N1

Permit Number: N/A

Contract Number: <u>CPO DEP25*12</u>

Dear Ms. Pretzel:

The WVDEP Office of Abandoned Mine Lands and Reclamation is issuing a change order to increase the original contract according to all terms, conditions, prices, and specifications contained in the original contract including all authorized change orders as shown on Attachment A.

During the conceptual design phase of the West Fork #9 project (Commodity Line 7), a large landslide occurred that completely took out a long section of the rail-trail and deposited a significant amount of material into the West Fork River, which parallels the trail. This created a very dangerous condition and forced the immediate closure of this heavily utilized trail. The landslide occurred at a dangerous impoundment mine portal that was originally included for mitigation in the original project design, and it is also within the original project limits. The landslide was deemed to be caused and driven by the AMD built up in the mine workings at the location, weakening the stability of the area. It was determined that the most expeditious way to eliminate the dangerous conditions is to expand the required scope for this project to include the design and remediation of the landslide and to do so under a fast-tracked timeline, as is warranted for the dangerous conditions.

The effective date of the change order is May 20, 2025. There is no set Effective End Date for this contract because professional services are required through construction and warranty.

Commodity Line 7: The project scoping had to be expanded and additional professional services and associated project works necessary to be provided for the project Task and Sub-Task to perform the additional work stated above have been provided and discretized in the consultant's Change Order #1 request document attached herewith. Additional quantities are necessary for previously included Sub-Tasks, as well as the addition of Sub-Tasks not previously included in the original contract. The additional cost for Change Order #1 is \$375,145.00. The total price for Commodity Line 7 including this Change Order #1 will be \$1,133,995.00, and the total contract sum including this Change Order #1 will be \$3,784,715.00.

Re: Change Order # 1

Purchase Order No.: CPO DEP25*12

It is acknowledged that this Change Order #1 is more than the 10% threshold of the original contract.

Change Order Approved by WVDEP:

Name	Title	Signature	Date
Troy H. Schell, P.E.	Northern Design Administrator	Troy H. Schell Digitally stored by: Troy H. Schell Ohi: CN = Troy H. Schell em peier: 2025.05.20 10:22-04 4	±ell ii = troy.h.schell@wv.gov C = US 4'00'
Eric Simpson, P.E.	AMLR Northern Regional Engineer		d by Eric Simpson P.E. 21 18:44:21 -04'00'
Travis Parsons	Deputy Director AMLR	Travis G Parsons 6 Parsons	email = travis.g.parsons@wv.gov C = US ntat Protection OU = Office of Abandoned

(signature of Deputy Director or Director is ONLY required when change order(s) total increase exceeds 10% when compared to original contract amount)

_							
$C \cap m$	nletion	of this	change	order	approval	nrocess	requires
OULL		OI IIII	OHUHIGO	OI GOI	approvai	PIOCOGO	10941100

- ☐ a current copy of your contractor's license
- □ a current copy of your insurance certificate
 - WVDEP must be listed as additional insured and the contract number must be listed in the extended description
- a Bond Rider in the amount of Click or tap here to enter text.

I am in agreement with the changes as outlined in this letter and Attachment A. (vendor signature required below)

Name	Title	Signature	Date
Samantha Pretzel	Sr. Program Manager	Satle Portsol	5/22/2025

Please email the signed documents to <u>depdIrprocurement@wv.gov</u> within 7 days of receipt of this letter.

If a Bond Rider is required, please mail the original to:

WV Dept. of Environmental Protection Office of Abandon Mine Lands Attn: Melanie Simpson 601 57th Street SE Charleston, WV 25304

cc: Melanie Simpson

PURCHASE ORDER NUMBER: CPO DEP25*12

CHANGE ORDER NUMBER: 1

PROJECT NAME: 2023 AML Contract N1

VENDOR/ CONTRACTOR: Kleinfelder Inc

The following changes will be implemented as part of this contract change order:

CL#	COMMODITY LINE DESCRIPTION	UNIT PRICE	UNIT OF MEASURE	QUANTITY NOW READS	QUANTITY TO READ	CONTRACT PRICE INCREASE/DECREASE
7	West Fork #9					\$375,145.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00
						\$0.00

Effective Date: May 20, 2025

The original Contract Sum was: \$3,409,570.00

Net change by previous Change Orders:

The Contract Sum prior to this Change Order was: \$3,409,570.00

The Contract Sum will be Increase by this Change Order: \$375,145.00

The new Contract Sum including this Change Order will be: \$3,784,715.00

The Contract Time (Days) will be Unchanged 0

The Date of Completion as of the date of this Change Order therefore is:

No Effective End Date



May 20, 2025

Kleinfelder Project No.: 25003302

Mr. Troy Schell, PE WV Department of Environmental Protection Office of Abandoned Mine Lands and Reclamation 1000 Technology Drive, Suite 3220 Fairmont, WV 26554

SUBJECT:

CPO DEP2500000012

2023 AML Contract N1 - Change Order 01

Dear Mr. Schell:

Kleinfelder is submitting the modification for the 2023 AML Contract N1 to address changes in scope previously discussed with your team regarding the West Fork #9 project (Commodity Line 7). Please see the brief narrative below pertaining to the additional scope as well as the attached invoice template for your review.

BACKGROUND AND PROJECT UNDERSTANDING

Kleinfelder was notified of a landslide within the proposed limit of disturbance boundary at the West Fork #9 project site, which has negatively impacted the rail trail access through the area, by email on 4/15/2025. Given that Kleinfelder is already under contract for the site to design mine reclamation for the existing features, it was determined that efficiencies would be possible by adding this scope to the current contract amount for West Fork #9 (EPAM 23103). Kleinfelder has since conducted field visits and prioritized geotechnical investigations for the area to facilitate preliminary design information necessary to address the additional design work that will ultimately be needed.

SCOPE OF SERVICES

The additional scope of services to be incorporated into the existing invoice template for the contract are as follows.

Task I: Planning

Kleinfelder has incorporated additional time to assess the environmental impacts for the landslide as it has extended into the West Fork floodway at this time and prepare necessary documentation for the resulting deliverables. Additionally, time has been included for additional surveys, and a lump sum task added to Section C for a mussel survey that will be required for this site.

Task II: Realty

Kleinfelder has incorporated additional time necessary to gain permission and hold discussions with the Harrison County Commission and the Rail Trail groups, respectively.

Task III: Design

Kleinfelder has conducted initial field visits to verify what additional measures should be taken from a design perspective given the constraints and need to expedite the schedule for the project. Additional

hours have been added to complete site recon, survey and geotech to ensure that all up to date and pertinent information is collected for the purpose of carrying this through design.

At this time, a retaining wall has been included in the design scope of work to address the landslide that has occurred. Additional hours have been added for all levels of design to address the time that is necessary for our geo/structural team to complete the necessary drafting and calculations related to the proposed retaining wall structure. Subtasks have also been added as necessary for changed scope items.

Task IV: Construction

Kleinfelder has incorporated additional time for the construction of the retaining wall, and hours for our geo/structural team to visit the site and document the overall installation of the structure.

Task V: Post Construction Oversight

Kleinfelder has incorporated additional time for post-construction inspections of the wall to monitor if movement or settlement of the retaining wall occurs during the warranty phase of the project.

PROPOSED FEE

Description:	Contract Value:
Original 2023 AML Contract N1	\$3,409,570
Change Order 01	\$ 375,145
Total Proposed Contract Value	\$3,784,715

Reference the attached documentation to see the required changes and additions to the task/cost breakdown to Commodity Line 7, West Fork #9 Project for this change order included herewith. All changes have been highlighted in green for your convenience. Please note that all subtotals and totals shown above include the Change Order #01 revisions.

LIMITATIONS

Our work will be performed in a manner consistent with that level of care and skill ordinarily exercised by other members of Kleinfelder's profession practicing in the same locality, under similar conditions and at the date the services are provided. Our conclusions, opinions and recommendations will be based on a limited number of observations and data. It is possible that conditions could vary between or beyond the data evaluated. This narrative has been provided in conjunction with the original contract documents and assumes the same terms and conditions as agreed upon award of the contract.

Sincerely,

KLEINFELDER

Senior Program Manager

Enclosures:

Invoice Template PDF

cc:

File

Marchard Name CPU DEZ-Souther Name CPU	PAGE 1	of 6 Pages
SCHEDULE PER CONTROL SCHEDULE PER CONTROL SCHEDULE PER CONTROL TASK DESCRIPTION UNIT CONTRACT UNIT BID PRICE COST UNITS		
TASK DESCRIPTION		
TASK DESCRIPTION		
ASK PLANNING	TOTAL BILLI	ED TO DATE
AGENCY COORDINATION (INCLUDING OFFICE WORK, AMLNET, ETC.)	UNITS	COST
AGENCY COORDINATION (INCLUDING OFFICE WORK, AMLNET, ETC.)		
Principal		
Project Manager / Senior Engineer		
3 Engineer / Technical Scientist	0.0	\$0.00
Planning / Technical Specialist	0.0	\$0.00
PUBLIC INVOLVEMENT (INCLUDING LEGAL ADS, PUBLIC HEARINGS, DOCUMENTS, PRESENTATIONS, WVDEP'S WEBSITE, ETC.) Principal	0.0	\$0.00
Principal	0.0	\$0.00
2 Project Manager / Senior Engineer		
Studies Stud	0.0	\$0.00
Segineer / Technical Scientist	0.0	\$0.00
A Planning / Technical Specialist	0.0	\$0.00
Principal	0.0	\$0.00
Principal		
2 Project Manager / Senior Engineer	0.0	20.00
Segincer / Technical Scientist	0.0	\$0.00
A Planning / Technical Specialist	0.0	\$0.00
Mussel Survey	0.0	\$0.00
1 Pricipal HR 8 \$235.00 \$1,880 \$0.00 \$0.00 2 Project Manager / Senior Engineer HR 24 \$195.00 \$4,680 \$0.00 \$0.00 3 Engineer / Technical Scientist HR 24 \$150.00 \$3,600 \$0.00 \$0.00	0.0	\$0.00
1 Pricipal HR 8 \$235.00 \$1,880 \$0.00 \$0.00 2 Project Manager / Senior Engineer HR 24 \$195.00 \$4,680 \$0.00 \$0.00 3 Engineer / Technical Scientist HR 24 \$150.00 \$3,600 \$0.00 \$0.00		
2 Project Manager / Senior Engineer HR 24 \$195.00 \$4,680 \$0.00 \$0.00 3 Engineer / Technical Scientist HR 24 \$150.00 \$3.600 \$0.00 \$0.00	0.0	
3 Engineer / Technical Scientist HR 24 \$150.00 \$3.600 \$0.00	0.0	\$0.00
30.00	0.0	\$0.00
7 Hamming / Technical operation	0.0	\$0.00
	0.0	\$0.00
SUBTOTAL SUB	SUBTOTAL	

chase (Order No.: CPO DEP2500000012							Application No.: (ONTRACT NEGOTIATION	PAGE 2	of 6 Pages
ntract l											
ommodi											
roject Na	me: West Fork #9							W	ORK COMPLETED		
SCHEDULE PER CONTRACT						PREVIOUS	PREVIOUS BILLED	THIS APPLICATION	AMOUNT DUE THIS APPLICATION	TOTAL BILLED TO DATE	
TASK	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT BID PRICE	COST	UNITS	COST	UNITS	COST	UNITS	COST
LCV II.	DELETTY										
1 1	REALTY	_									
	EXPLORATORY RIGHTS OF ENTRY (EROE)										
1	Principal Principal	HR	8	\$235.00	\$1,880		\$0.00		\$0.00	0.0	\$0.00
2	Project Manager / Senior Engineer	HR	32	\$195.00	\$6,240		\$0.00		\$0.00	0.0	\$0.00
3	ROW Manager	HR	120	\$150.00	\$18,000	1	\$0.00		\$0.00		\$0.00
4	Realty Agent				- 19-17 · 1970/pr						
+	Courthouse Work	HR	70	\$120.00	\$8,400		\$0.00		\$0.00	0.0	\$0.00
+	Field Reconnaisance / Landowner Correspondence	HR	100	\$120.00	\$12,000		\$0.00		\$0.00	0.0	\$0.00
С	Office Work / AMLNET	HR	60	\$120.00	\$7,200		\$0.00		\$0.00	0.0	\$0.00
	CONSTRUCTION RIGHTS OF ENTRY (CROE)										
1	Project Manager / Senior Engineer	HR	16	\$195.00	\$3,120		\$0.00		\$0.00	0.0	\$0.00
2	ROW Manager	HR	64	\$150.00	\$9,600		\$0.00		\$0.00	0.0	\$0.00
3	Realty Agent										
a	Courthouse Work	HR	40	\$120.00	\$4,800		\$0.00		\$0.00	0.0	\$0.00
b	Field Reconnaisance / Landowner Correspondence	HR	48	\$120.00	\$5,760		\$0.00		\$0.00	0.0	\$0.00
C	Office Work / AMLNET	HR	16	\$120.00	\$1,920		\$0.00		\$0.00	0.0	\$0.00
	PRE-BID CONFERENCE										
1	ROW Manager	HR	12	\$150.00	\$1,800		\$0.00		\$0.00	0.0	\$0.00
2	Realty Agent	HR	4	\$120.00	\$480		\$0.00		\$0.00	0.0	\$0.00
	PRE-CONSTRUCTION CONFERENCE										
1	ROW Manager	HR	12	\$150.00	\$1,800		\$0.00		\$0.00	0.0	\$0.00
2	Realty Agent	HR	4	\$120.00	\$480		\$0.00		\$0.00	0.0	\$0.00
				SUBTOTAL PAGE 2 COST	\$83,480	SUBTOTAL PAGE 2	\$0.00	SUBTOTAL PAGE 2 THIS	\$0.00	SUBTOTAL	\$0.00

WEST VIRGINIA DEPARTMENT OF ENVIRONMENTAL PROTECTION / OFFICE OF ABANDONED MINE LANDS & RECLAMATION CONTINUATION SHEET OF APPLICATION AND CERTIFICATE FOR PAYMENT Purchase Order No.: CPO DEP2500000012 Application No.: CONTRACT NEGOTIATION PAGE 3 of 6 Pages 2023 AML Contract N1 Contract Name: Commodity Line: Project Name: West Fork #9 WORK COMPLETED THIS AMOUNT DUE THIS SCHEDULE PER CONTRACT **PREVIOUS** PREVIOUS BILLED TOTAL BILLED TO DATE APPLICATION APPLICATION CONTRACT UNIT BID TASK DESCRIPTION UNIT UNIT BID PRICE UNITS COST UNITS COST UNITS COST QUANTITY PRICE TASK III: DESIGN SITE RECONNAISSANCE AND INVESTIGATIONS Principal HR 16 \$235.00 \$3,760 \$0.00 \$0.00 0.0 \$0.00 2 Project Manager / Senior Engineer HR 80 \$195.00 \$15,600 \$0.00 \$0.00 0.0 \$0.00 Technical Scientist / Environmental Specialist 3 HR \$6,000 40 \$150.00 \$0.00 \$0.00 0.0 \$0.00 4 Staff Engineer HR 80 \$8,800 \$110.00 \$0.00 \$0.00 0.0 \$0.00 SURVEYING & MAPPING Principal HR 4 \$235.00 \$940 \$0.00 \$0.00 0.0 \$0.00 Project Manager / Senior Engineer 2 HR 16 \$195.00 \$3,120 \$0.00 \$0.00 0.0 \$0.00 3 Staff Engineer HR 70 \$110.00 \$7,700 \$0.00 \$0.00 0.0 \$0.00 4 Professional Surveyor / Chief Surveyor HR 24 \$165.00 \$3,960 \$0.00 \$0.00 0.0 \$0.00 5 Survey Crew HR 50 \$170.00 \$8,500 \$0.00 \$0.00 0.0 \$0.00 6 Senior Technician HR 46 \$95.00 \$3,800 \$0.00 \$0.00 0.0 \$0.00 7 Topographic, Planimetric and Check Surveying LS 1 \$17,500.00 \$17,500 \$0.00 \$0.00 0.0 \$0.00 Additional Topographic Planimetric and Check Survey LS \$7,500.00 \$7,500 \$0.00 \$0.00 0.0 \$0.00 GEOTECHNICAL INVESTIGATION 1 Principal HR 16 \$3,760 \$235.00 \$0.00 \$0.00 0.0 \$0.00 2 Project Manager / Senior Engineer HR 24 \$195.00 \$4,680 \$0.00 \$0.00 0.0 \$0.00 Geotechnical Engineer/Geologist HR. \$150.00 48 \$7,200 \$0.00 \$0.00 0.0 \$0.00 4 Staff Geologist/Engineer HR 90 \$110.00 \$9,900 \$0.00 \$0.00 0.0 \$0.00 Admin Support HR 16 \$85.00 \$1,360 \$0.00 \$0.00 0.0 \$0.00 Mobilization / Demobilization LS \$3,500.00 \$3,500 \$0.00 \$0.00 0.0 \$0.00 Soil Augering 7 LF 600 \$40.00 \$24,000 \$0.00 \$0.00 0.0 \$0.00 Rock Coring LF 500 \$40.00 \$20,000 \$0.00 \$0.00 0.0 \$0.00 9 Heavy Equipment Day 6 \$1,500.00 \$9,000 \$0.00 \$0.00 0.0 \$0.00 10 Piezometer Installation LS 4 \$6,500.00 \$26,000 \$0.00 \$0.00 0.0 \$0.00 11 Piezometer Removal LS \$2,500.00 4 \$10,000 \$0.00 \$0.00 0.0 \$0.00 12 Drill Crew Per Diem Day 9 \$450.00 \$4,050 \$0.00 \$0.00 0.0 \$0.00 13 Lab Testing LS \$3,500.00 \$3,500 \$0.00 \$0.00 0.0 \$0.00 14 Reclamation LS 1 \$2,500.00 \$2,500 \$0.00 \$0.00 0.0 \$0.00 15 Geotechnical Investigation Report LS \$7,000.00 \$7,000 \$0.00 \$0.00 0.0 \$0.00 16 Additional Mobilization / Demob LS \$5,000.00 \$5,000 \$0.00 \$0.00 0.0 \$0.00 17 Additional Heavy Equipment Day 6 \$1,500.00 \$9,000 \$0.00 \$0.00 18 Additional Charge for Rock Coring LF 500 \$25.00 \$12,500 \$0.00 \$0.00 0.0 \$0.00 19 Additional Lab Testing LS 1 \$3,000.00 \$3,000 \$0.00 \$0.00 0.0 \$0.00 20 Additional Reclamation LS \$6,000.00 \$6,000 \$0.00 \$0.00 0.0 \$0.00 21 Additional Geotehonical Investigation Report LS \$5,000.00 \$5,000 \$0.00 \$0.00 0.0 \$0.00 SUBTOTAL SUBTOTAL SUBTOTAL SUBTOTAL \$264,130 PAGE 3 \$0.00 PAGE 3 THIS \$0.00 \$0.00 PAGE 3 COST AML-7A (Revised 12/6/2023) PAGE 3 TO DATE PREVIOUS APPLICATION

chase	Order No.: CPO DEP2500000012				OF APPLICATI			Application No.:	CONTRACT NEGOTIATION	Page	4 of 6 Pages
tract	Name: 2023 AML Contract N1								Olitical Resolution	1.090	· or o ruges
	ity Line: 7										
ject N	ame: West Fork #9							Wo	ORK COMPLETED		
	SCHEDULE	PER CONTR				PREVIOUS	PREVIOUS BILLED	THIS APPLICATION	AMOUNT DUE THIS APPLICATION	TOTAL BILLED TO DATE	
ASK	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT BID PRICE	COST	UNITS	COST	UNITS	COST	UNITS	COST
v m	I: DESIGN (CONTINUED)										
I	CONCEPTUAL DESIGN (30%)					-					
1	Project Manager / Senior Engineer	HR	120	\$195.00	\$23,400		to 00				
2	Engineer / Environmental Scientist	HR	160	\$193.00	\$23,400		\$0.00		\$0.00	0.0	\$0.00
3	Principal Engineer / Scientist	HR	40	\$235,00	\$9,400		\$0.00		\$0.00	0.0	\$0.00
4	Environmental Specialist / Staff Engineer	HR	190	\$235.00	\$20,900		\$0.00		\$0.00	0.0	\$0.00
5	CADD Technician	HR	210	\$95.00	\$19,950		\$0.00		\$0.00	0.0	\$0.00
6	Adminstration	HR	12	\$85.00	\$19,930		\$0.00		\$0.00	0.0	\$0.00
-	1 MANUAL MICH	HK	12	363.00	\$1,020		\$0,00		\$0.00	0.0	\$0.00
+	PRELIMINARY DESIGN (60%)					_	-				
1	Project Manager / Senior Engineer	HR	120	\$195.00	\$23,400		\$0.00		\$0.00	0.0	60.00
2	Engineer / Environmental Scientist	HR	160	\$150.00	\$24,000		\$0.00		\$0.00	0.0	\$0.00
3	Principal Engineer / Scientist	HR	40	\$235.00	\$9,400		\$0.00		\$0.00	0.0	\$0.00
4	Environmental Specialist / Staff Engineer / Geologist	HR	190	\$110.00	\$20,900		\$0.00		\$0.00	0.0	\$0.00
5	CADD Technician	HR	210	\$95.00	\$19,950		\$0.00		\$0.00	0.0	\$0.00
6	Adminstration	HR	12	\$85.00	\$1,020		\$0.00		\$0.00	0.0	\$0.00
+			- 45	505.00	\$1,020				\$0.00	0.0	\$0.00
1	PRE-FINAL DESIGN (90%)										
1	Project Manager / Senior Engineer	HR	120	\$195.00	\$23,400		\$0,00		\$0.00	0.0	\$0.00
2	Engineer / Environmental Scientist	HR	160	\$150.00	\$24,000		\$0.00		\$0.00	0.0	\$0.00
3	Principal Engineer / Scientist	HR	40	\$235.00	\$9,400		\$0.00		\$0.00	0.0	\$0.00
4	Environmental Specialist / Staff Engineer / Geologist	HR	190	\$110.00	\$20,900		\$0.00		\$0.00	0.0	\$0.00
5	CADD Technician	HR	210	\$95.00	\$19,950		\$0.00		\$0.00	0.0	\$0.00
6	Adminstration	HR	12	\$85.00	\$1,020	-	\$0.00		\$0.00	0.0	\$0.00
					30,000,01						
	FINAL DESIGN (100%)										
1	Project Manager / Senior Engineer	HR	32	\$195.00	\$6,240		\$0.00		\$0.00	0.0	\$0.00
2	Engineer / Environmental Scientist	HR	32	\$150.00	\$4,800		\$0.00		\$0.00	0.0	\$0.00
3	Principal Engineer / Scientist	HR	12	\$235.00	\$2,820		\$0.00		\$0.00	0.0	\$0.00
4	Environmental Specialist / Staff Engineer / Geologist	HR	65	\$110.00	\$7,150	UI.	\$0.00		\$0.00	0.0	\$0.00
5	CADD Technician	HR	65	\$95.00	\$6,175		\$0.00		\$0.00	0.0	\$0.00
6	Adminstration	HR	8	\$85.00	\$680		\$0.00		\$0.00	0.0	\$0.00
-7A (Revised 12/6/2023)			SUBTOTAL PAGE 4 COST	\$323,875	SUBTOTAL PAGE 4 PREVIOUS	\$0.00	SUBTOTAL PAGE 4 THIS APPLICATION	\$0.00	SUBTOTAL PAGE 4 TO DATE	\$0.00

		C	ONTINUAT	TON SHEET O	OF APPLICAT	ION AND CER	RTIFICATE FOR	PAYMENT			
urchas	e Order No.: CPO DEP2500000012								CONTRACT NEGOTIATION	Page 5 o	f 6 Pages
	t Name: 2023 AML Contract N1										
	lity Line: 7										
roject l	Name: West Fork #9						T .		ORK COMPLETED		
	SCHEDU	LE PER CONTR	ACT			PREVIOUS	PREVIOUS BILLED	THIS APPLICATION	AMOUNT DUE THIS APPLICATION	TOTAL BILLE	ED TO DATE
TASK	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT BID PRICE	COST	UNITS	COST	UNITS	COST	UNITS	COST
TASK II	II: DESIGN (CONTINUED)										
F	PERMITTING (Matrix, USACE, USFWS, WVDNR,	WVSHPO, FLO	OD, WYDOH)								
1	Project Manager / Senior Engineer	HR	60	\$195.00	\$11,700		\$0.00		\$0.00	0.0	\$0.00
2	Principal Engineer / Scientist	HR	40	\$235.00	\$9,400		\$0.00		\$0.00	0.0	\$0.00
3	Engineer / Environmental Scientist	HR	120	\$150.00	\$18,000		\$0.00		\$0.00	0.0	\$0.00
4	Planning Specialist	HR	100	\$110.00	\$11,000		\$0.00		\$0.00	0.0	\$0.00
G	PRE-BID CONFERENCE										
1	Project Manager / Senior Engineer	HR	36	\$195.00	\$7,020		\$0.00		\$0.00	0.0	\$0.00
2	Construction Inspector	HR	24	\$145.00	\$3,480		\$0.00		\$0.00	0.0	\$0.00
н	PRE-CONSTRUCTION CONFERENCE										
1	Project Manager / Senior Engineer	HR	36	\$195.00	\$7,020		\$0.00		\$0.00	0.0	\$0.00
2	Construction Inspector	HR	24	\$145.00	\$3,480		\$0.00		\$0.00	0.0	\$0.00
3				SUBTOTAL PAGE 5 COST	\$71,100	SUBTOTAL PAGE 5 PREVIOUS	\$0.00	SUBTOTAL PAGE 5 THIS APPLICATION	\$0.00	SUBTOTAL PAGE 5 TO DATE	\$0.00

					MENTAL PROTECT OF APPLICATI						
rchase	Order No.: CPO DEP2500000012								ONTRACT NEGOTIATION	Page 6	of 6 Pages
ontract]	Name: 2023 AML Contract N1							11	or and or	,g. v	or or ages
	ity Line: 7										
roject N:	ame: West Fork #9							WO	ORK COMPLETED		
	SCHEDU	ULE PER CONTR	ACT			PREVIOUS	PREVIOUS BILLED	THIS APPLICATION	AMOUNT DUE THIS APPLICATION	TOTAL BIL	LED TO DATE
TASK	DESCRIPTION	UNIT	CONTRACT QUANTITY	UNIT BID PRICE	COST	UNITS	COST	UNITS	COST	UNITS	COST
ASK IV	: CONSTRUCTION OVERSIGHT										
	CONSTRUCTION INSPECTION										
1	Project Manager / Senior Engineer	HR	200	\$195.00	\$39,000		\$0.00		\$0.00	0.0	\$0.00
2	Construction Inspector										
a	Construction Inspection	HR	1600	\$145.00	\$232,000		\$0.00		\$0.00	0.0	\$0.00
b	Office Work / AMLNET	HR	60	\$145.00	\$8,700		\$0.00		\$0.00	0.0	\$0.00
3	Administrative Staff	HR	24	\$85.00	\$2,040		\$0.00		\$0.00		
ASK V:	POST-CONSTRUCTION OVERSIGHT	· · · · · · · · · · · · · · · · · · ·									
A	FIELD VISITS / INSPECTIONS										
1	Project Manager / Senior Engineer	HR	48	\$195.00	\$9,360		\$0.00		\$0.00	0.0	\$0.00
2	Construction Inspector	HR	240	\$145.00	\$34,800		\$0.00		\$0.00	0.0	\$0.00
					A instructional de COM.						40,00
				SUBTOTAL PAGE 6 COST	\$325,900	SUBTOTAL PAGE 6 PREVIOUS	\$0	SUBTOTAL PAGE 6 THIS APPLICATION	\$0	SUBTOTAL PAGE 6 TO DATE	\$0
		TOTAL TA	SKI-V COST	TOTAL CONTRACT AMOUNT	\$1,133,995	TOTAL PREVIOUS BILLED	\$0	TOTAL BILLED THIS APPLICATION	\$0	TOTAL BILLED TO DATE TASK I - V	\$0
		2023 AM	L Contract N1	TOTAL CONTRACT AMOUNT	\$3,784,715	TOTAL PREVIOUS CONTRACT BILLED	\$0	TOTAL CONTRACT BILLED THIS APPLICATION	\$0	TOTAL BILLED CONTRACT TO DATE	\$0

MARK EXPERIMENT

DEPARTMENT OF ADMINISTRATION

PURCHASING DIXISION

To: All State Agencies Under Purchasing Division

From: Samantha Willis, Director & General Counsel

WV Purchasing SW

Date: January 23, 2025

Re: \$100,000 Spending Requests

CPO DEP25*012 CO NO 1 INCREASE EOI 2023 AML CONTRACT N1

MEMORANDUM

Pursuant to Executive Order 4-25, signed into effect by Governor Morrisey on January 14th, 2025, all expenditures over \$100,000 must be reviewed by the Governor's Office in advance. Any solicitations, purchase orders, or other contracts currently in the possession of the Purchasing Division, which are estimated to cost over \$100,000 are being placed on hold for review. Our Division is providing documentation of those to the Governor's Office for review.

Any new requisitions valued over \$100,000 that are received by the Purchasing Division, must have a copy of this memorandum and accompanying signatures to process as usual. If there is no evidence of Governor's Office review or approval, your requisition will be returned to seek that approval.

Thank you all for your hard work, and please feel free to reach out with any questions on our end; if you have questions about the procedure for seeking the necessary approvals internally, I would recommend reaching out to your Cabinet Secretaries and/or your Department's Governor's Office liaison,

The Accompanying Request has been reviewed and approved by the following:

Agency Head

binet Secretary/Department Head

Governor's Office Representative

4-25-2025

Date

25 - 2025 Data

5.7

produktyre i jan kipla sidduni. On il jira ur a r'hant katirs patiel alde isku iskulara a jald, ka kile a Kala Ing, amjura

You are viewing this page over a secure connection. Click here for more information.

West Virginia Secretary of State — Online Data Services

Business and Licensing

Online Data Services Help

Business Organization Detail

NOTICE: The West Virginia Secretary of State's Office makes every reasonable effort to ensure the accuracy of information. However, we make no representation or warranty as to the correctness or completeness of the information. If information is missing from this page, it is not in the The West Virginia Secretary of State's database.

KLEINFELDER, INC.

Organization I	nformation	1						
Org Type	Effective Date	Established Date	Filing Date	Charter	Class	Sec Type	Termination Date	Termination Reason
C Corporation	1/20/2014		1/20/2014	Foreign	Profit			

Business Purpose	5413 - Professional, Scientific and Techincal Servies - Professional, Scientific and Techincal Servies - Architectural, Engineering and Related Services (landscape architects, drafting, geophysical mapping, testing labs)	Capital Stock	
Charter County		Control 9A3XU Number	
Charter State	CA	Excess Acres	
At Will Term		Member Managed	× Close
At Will Term Years		Pa Hi, I'm SOLO! I o	
Authorized Shares		Report.	

Addresses	
Туре	Address
Local Office Address	180 WHITE OAKS BOULEVARD SUITE 110 BRIDGEPORT, WV, 26330
Mailing Address	770 FIRST AVENUE SUITE 400 SAN DIEGO, CA, 92101 USA
Notice of Process Address	C T CORPORATION SYSTEM 5098 WASHINGTON ST. W., STE 407 CHARLESTON, WV, 253131561
Principal Office Address	770 FIRST AVENUE SUITE 400 SAN DIEGO, CA, 92101 USA
Туре	Address

Officers	
Туре	Name/Address
Director	LOUIS J ARMSTRONG 770 FIRST AVENUE SUITE 400 SAN DIEGO, CA, 92101
President	LOUIS J ARMSTRONG 770 FIRST AVENUE SUITE 400 SAN DIEGO, CA, 92101
Secretary	SCOTT B. HILLMAN 770 FIRST AVENUE, SUITE 400 SAN DIEGO, CA, 92101
Treasurer	ERIK SODERQUIST 770 FIRST AVENUE SUITE 400 SAN DIEGO, CA, 92101
Туре	Name/Address

Merger Date	Merged	Merged State	Survived S	Survived	l State
2/22/2023	POGGEMEYER DESIGN GROUP, INC.	ОН	KLEINFELDER, INC.	CA	
Merger Date	Merged	Merged State	Report.		State
Mergers			Hi, I'm SOLO! I can hel you file your Annual		

2/3

Reset 🔿

Exclusion Type

Location

Dates

Exclusion Program

No matches found

We couldn't find a match for your search criteria.

Please try another search or go back to previous results.

Go Back



Our Website	Our Partners	
About This Site	Acquisition.gov	
Our Community	USASpending.gov	
Release Notes	Grants.gov	
System Alerts	More Partners	
Policies	Customer Service	
Terms of Use	Help	
Privacy Policy	Check Entity Status	
Restricted Data Use	Federal Service Desk	
Freedom of Information Act	External Resources	
Accessibility	Contact	



⚠ WARNING

This is a U.S. General Services Administration Federal Government computer system that is **"FOR OFFICIAL USE ONLY."** This system is subject to monitoring. Individuals found performing unauthorized activities are subject to disciplinary action including criminal prosecution.

This system contains Controlled Unclassified Information (CUI). All individuals viewing, reproducing or disposing of this information are required to protect it in accordance with 32 CFR Part 2002 and GSA Order CIO 2103.2 CUI Policy.